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Uzage of Ricoh projector serial commands Models: P WxXL4540,/ X1L4540

Comunication condtion  8600bps. Mo Party. 8t 1 stop bit

The structure of a command
Sanding command 0 N SR+ | CR

End of command
“Paramatar

~Dalimiter batwean Command and
Paramater

Command

Header

Response tsugcess) = P 1 © - I CR

End of raspenza
Paramater

_Delimiter between Command and

2016.4.30

[CR] codalODh}
Adiusting value or adjusting
parameter (see Mote below)

3 characters (zas sommnad list)
e

[GR] coda(0Dh)
the wvalue set sctuatly

"SC0" will return when an
syecuba commnad 15 sent

Paramater
Command the conmmand dong
Header "=
Responsa (Emark = P I G : ER 0 CR Command 15 recongnized bul not sxacutod
= E R 0 CR Command is not recengnized
Sottng commands
Saltiting # P I G : 1 CR
Put the setting numbar degirad
You can't use the special parameter such as "ING”
Inguiring # P I G OGCR Sand the command only for inguirng the current setting.
Response fsuccesz) = P I G | CR
The currant satting is retumed.
Executing commands
Exeouting ® P O NCR No parameter is allowed

Response isuccess) = P O N : 5 C 0 GR

Inguiring commands

Inquirng # 5 P 5 CR HNe parameler is alowed
Return (success) = 5 L T 3 H1 5 M 0 5CH Time is retuned using ‘3HI5M05” format.
= &8 3 V 1 2 3 CR This means “firmware wersion:; 123
<Caution>

There anc some Emitations serisl commands in stand—by mode.
Onty "PON" command is alowed in stand-by mode,
Mo error is retumad in stand-by mode when commands or texts except “PON" is sent
In this casa, a taxt other than "=5SC0" will ba returmed
Text may be retumed in some operations,
Be sure to use straight cable sold on the market to connect with the PC.
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[Prm]
PON #PON[CR]
POF #POF[CR]
PIC #PIC[CR] 0-2
Dynamic = 0 #PIC:0[CR]
PC=1 #PIC:1[CR]
Movie = 2 #PIC:2[CR]
Game = 3 #PIC:3[CR]
User = 4 #PIC:4[CR]
AV MUT #MUT[CR] 0-1
off =0 #MUT:O[CR]
on=1 #MUT:1[CR]
INP #INP[CR] 3_10
1= #INP:3[CR]
2= #INP:5[CR]
HDMI1=6 #INP:6[CR]
HDMI2=7 #INP:9[CR]
=9 #INP:10[CR]
SPS #SPS[CR] o: 1 5: 7:
SIS #SIS[CR] 3 15 2 6:HDMI1 7:HDMI2 9:
SER #SER[CR] o: 0 1. 4Fan8:  16CW
SLT #SLT[CR] =SLT3 153 15
SFT #SFT[CR]
STT #STTI[CR]
SSV #SSV[CR] DDP,MCP




